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Question Number : 1 Question Id : 8135612081 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Kelps are formed by

55y DV DG EOR
Options:
Chara
1, 8
Ectocarpus
o)gsg"dbfb
2. ™
Porphyra
3 % 20 P0
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Question Number : 2 Question Id : 8135612082 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following

a. Polychasial cyme 1. Ipomea
b. Solitary cyme 11. Datura
¢. Monochasial cyme i11. Nerium
d. Dichasial cyme 1v. Solanum
SoBT° AR BADGTIAD
a. WIVTHOD D3 So i Y dair
b. J5"odd D3 o i, GSSrS
c. ETHADH I o ili. DdA%o
d. BgTDHoD Ao iv. Tordd

Options:

o (@a—1), (b—ii), (c—iii), (d—iv)

L (@—iiD), (b—ii), (c—iv), (d—i)

3 % (@—ii), (b—iii), (c—iv), (d—1)

4 % (@—iil), (b—ii), (c—1), (d—iv)
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Question Number : 3 Question Id : 8135612083 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Mesogamy is the entry of pollen tube into the ovule through

20¢3] RoCIT o I DT T¥o D& Mot ok & HDHIotD

Options:
Nucellus

1 % PotodC 563 Vo

Integuments

5 9ol S0

Micropyle

@906 P(BA
3, %

Chalaza

4w DO

Question Number : 4 Question Id : 8135612084 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The enzyme responsible for carbon fixation in C4 plants 1s

C4 2008) 085" S6)D FDIL VDO VAN DoFd0

Options:
PEP carboxylase
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Aldolase
wgﬁé

ATP ase
4 % ATP add
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Question Number : 5 Question Id : 8135612085 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Gymnosperms lack which of the following?

$08 T°S° Ddydh Dezre DD £OA Gokd?

Options:
Sieve tubes

o o0 TR

Tracheids
Cog-Tob

2 ™

Sieve cells
3 % GO SETeD

Albuminous cells

eswaa)éi: TP
4, %
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Question Number : 6 Question Id : 8135612086 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Classification of Virus is done by

DD © SBLde0 BB

Options:
1 = IBTV

, % ICBN
3,v ICTV

4. ® ICZN

Question Number : 7 Question Id : 8135612087 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The taxonomical aid used for identification of organisms based both similarities and
differences 1s

Ao 26| &) Tsew oo Brrdor T8 B S E 06

Options:
Herbarmm

:J“U“aaai‘lfl)
1, %

Key
2.v 8
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Museum

i mrig.’c:omﬁo
3, ®

Question Number : 8 Question Id : 8135612088 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following chemical serves as an anti-transpirant in plants?

DS D 63030 208 0 rI\By8 IFESI0MT HIBAIORO?

Options:
Cobalt chloride

i Sere) §0&

Dimethyl mercury

& S 08,8
2. %

Potassium Iodide
o T3V VAIrEs

Phenyl mercuric acetate

Ryt > m656§ £906365
4,

Question Number : 9 Question Id : 8135612089 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Choose the incorrect pair of movements

BrezeS’ 2B 900D 2 °E :Da':oclé" ol

Options:
Diffusion- Short
D6~ e
Yoo o

Translation- Bulk
i DTG0 TFY° DB

Apoplast- living components

. e’ - 89 eodiVeISTeD
3. S

Root pressure- small heights
, w DO DEIZN- S80S oW

Question Number : 10 Question Id : 8135612090 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Insertional inactivation of a gene helps in

A CIE); RIS YASINR &DHA(fo

Options:
Identification of nonrecombinant colonies with white color
. OO Gorel’ &) DEDBBAD S STV VA oI

Y
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Identification of recombinant colonies of white color
BV Goe’ &d) DEJBS STV VR DB

Identification of recombinant colonies with blue color
L 00 GobE’ 63 DOBBS SO VA WP

Identification of nonrecombinant colonies with black color
4w DR Coe” &) BOBBSID D SOV BRI

Question Number : 11 Question Id : 8135612091 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is incorrect regarding Bt?

Bt & DotoBod) $0B8TIS° 28 I8 DA?
Options:
The toxin is coded by ‘cry” gene

" D‘?.‘:J,:Jm“gn cry’ 20(DBD AT oILICAE
1.

Toxin proteins exists as protoxins
| x DS TE DRDETV PO MV Gocd

Toxins are insect group specific

| DT T S8 DAL DIHRIG
3 *

Inactive toxin is converted into active form due to acidic pH of gut of insect
i 6630 aws), OV ' e pH S0 Sairdard D‘f’q:m‘g'w S0D0BANT ArdR
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Question Number : 12 Question Id : 8135612092 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In flowering plants. a mature female Gametophyte is derived from “Megaspore
mother cell” by

20 20 S° Arw DG D ArdySno Aol D DB Sy 2 Rodrd
D280 0D3)B Bod?

Options:
One meiotic division and three mitotic division

e 28) £.0308669 DZ3228 B HATED DA DTRHLN

Three meiotic divisions
5 % SO L05S0E Z52280e

One meiotic division and two mitotic division
o x WS £obsce 22525 BN Totd VD DHRALD

One meiotic division and one mitotic division

i 2,8); £00050¢63 DD 803D W8], N FOEAESE

Question Number : 13 Question Id : 8135612093 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Haplo-diplontic life cycle 1s seen in

SEFaNey *gas B BS00A) WIHOE
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Question Number : 14 Question Id : 8135612094 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Vivipary in mangrove plants 1s a strategy to

AR 67 g 8" DI (Wer\3R) 038

Options:

Ensure successful establishment

g

Drought escaping
mra,ra'*bi oc:bﬁ"b:?mdos;

2. %

Salt tolerant

3. ¥

OIS0 $E0E DoGOILD

2ADDEID T Do Derr
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Fruit set

7 DT VRC DUTV &3S §

Question Number : 15 Question Id : 8135612095 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The fluidity of membranes in a plant in cold weather may be maintained by

2E) &° B0 TT OG0 ST &DE68 B G°(0° BLeotdecd?

Options:
Increasing the number of phospholipids with unsaturated hydrocarbon tails

. B TE 56\ SEUE DAMAD) I'TD1E Doay
1 ‘

Increasing the proportion of integral proteins

DS DEABIDY oGS T
2. % o ”

Increasing concentrations of cholesterol in membrane
B308° DEDAD) FTIS mreEden

Increasing number of phospholipids with saturated hydrocarbon tails
RodyD) 7E 56\ SEUE DOMBODY IV B¢ Doady

Question Number : 16 Question Id : 8135612096 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Assertion (A): In Nepenthes leaves are modified to trap insects

Reason (R): Insects serve as mitrogen supplements

D3B8 (A) : $D0BS’ SLTVRD WoBoELL DT ErFoddo BoddR)

s60:aD (R): SOSTL0 H892. H96e0mT HABAL

Options:
Both A & R are true but R 1s not the correct explanation of A
1 % ‘A’ 208050 ‘R’ Bl 28 9003, 58 ‘R’ 998 ‘A’ £ 00 9008 D6 ST

Both A & R are true and R is the correct explanation of A
5> A 00aiD 'R’ Gocls® O 2900032). ‘R’ 998 ‘A’ 80 2B 9003 DHG¢.

A 1s true R 1s false
3 % A V0 oG, R V0 008 5.

A 1s false R is true
. ATV 0O BT, R’ V0 90008.

Question Number : 17 Question Id : 8135612097 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

DNA 1s a better genetic material than RNA because of

RNA Sot3 DNA o) ae,r‘a.)s :Jm“g;:m 29I (10 S°EEAD

Options:
Presence of Thymine

- BAD EocIt) JVD
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DNA mutates faster
DNA 0o ee:@)&:bgéo WOt

DNA 1s more catalytic

5 & DNA 29883501 &83)\68250
w N

DNA 1s labile

- DNA 20030 DA a0

Question Number : 18 Question Id : 8135612098 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Female reproductive structure of chara 1s

ST & RANBS Do) L0

Options:
Gynoecium
| % oGS

Carpel

) x DOGTID

Nucule
ot m553°525

Archegonium

Usbﬁ" ~030
4. *
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Question Number : 19 Question Id : 8135612099 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The term ‘polyadelphous’ is related to which among the following?

‘ITVR0GS0’ DB So0BTIES’ BAS PDotIoBoIA?

Options:
Gynoecium
1 % 09068 %o

Androecium
, ¢ SRT°DY

Corolla

83808 DT HY
3. % =

Calyx

n LS DT HY

Question Number : 20 Question Id : 8135612100 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is the correct pair for edible plant?

SAGHD DE) L VotroBot) $obTVS” D 2 VO LAVIH?

Options:

Tomato -thalamus
LA~ DARDo

1, %
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Maize- cotyledons

5 B 2008) &' - AT ALY

Guava- mesocarp

2P - ;ﬁoc;'>5 e S5%0
3. %

Date palm- mesocarp

it D00~ Q0G| DO S0

Question Number : 21 Question Id : 8135612101 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a DNA recombinant the vehicle DNA 1s

HdFod@ras DNA &° oirs DNA

Options:
DNA which i1s transferred into the host

. % % DNA 033800¢6°08 269 Sobcses

DNA which 1s present in the host

, x % DNA ©0980206" &otw06

DNA which 1s combined with the passenger DNA

& o & DNA o0r€ DNA & €9 &otod

DNA which 1s combined with the host DNA
., € DNA ©33an DNA & 8% &otwod
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Question Number : 22 Question Id : 8135612102 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Sucrose formation from CO, & HyO in mesophyll 1s

DBodGed” CO, 28aDH H,0 Aoct WEE &dyd) Joaddy Sab

Options:
Catabolic
_ DR Sobd

Anabolic
DT £9 SO

Amphibolic
- e3023e5° 08 Do

Glycolytic

S oS
4.8 =

Question Number : 23 Question Id : 8135612103 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Zn 1s essentially for

208 B3 tﬂb%'sa?

Options:
Synthesis of fat

1. % 5«“@5 “ﬂﬁiﬁﬁﬁ@
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Synthesis of auxins

5 BSD DoFRND
Synthesis of proteins

L x O Do

Oxidation of carbohydrates

5ol HTT® 233.356995)
4. % @
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Question Number : 24 Question Id : 8135612104 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Trichoderma fungus acts as

oE'do), 3Dosan w8

Options:
Biofertilizer

| ED 0D

Bioremediation agent

5 % 23 TDEODND 5°ESAD

Biopesticide

s x 2D WS T8I0

Biocontrol agent
4 v 2O QoDodess~d
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Question Number : 25 Question Id : 8135612105 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following bryvophytes is used as a fuel?

& 308 TS D I QoG GHATAIE?

Options:
Funaria

Q)vzgé&oir
1o ™

Marchantia

<007 Q0D
2. % S

Sphagnum

3, v RS

Anthoceros

4 % @GS NO°R

Question Number : 26 Question Id : 8135612106 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following with respect to substrate level phosphorylation and corresponding
substrate that 1s essential for the production of ATP

Substrate Product
a. 1.3 Bis phosphoglyceric Acid 1. Pyruvate
b. Phosphor Enol Pyruvate i, Succinic Acid
¢. Succinyte CO-A i1, 3-phosphoglyceric Acid

3BT a.a::oma»mgg:an FI\BTHS DSOS 0GR DErGo &dy) 0

DT & €y O
R ondo &dyd)0
a. 1300 A0S esapdw L D
b. Iy &S PEDG i, RE\IS es0Aw
¢. X8\ CO-A i, 3- \ARS e
Options:

. o (@—ii), (b—1), (c—ii)
, » (@—1), (b—ii), (c—iii)
5« (@—ib), (b—1), (c—iii)
, x @D (b—iiD), (c—ii)

Question Number : 27 Question Id : 8135612107 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Phospholipoids with phosphorylated organic compound in plasma membrane is

3"&& aséue.‘i‘ a(3) ,S*"S‘_)E)::m 208030 .3"5"366936. 863 Dogrew
® g &

Options:
Lecithin

| v TBBD

Thymine

3D
2, ®

Lysine
5
3. % 999
Glycolipid
08 ODHE

4, % ~

Question Number : 28 Question Id : 8135612108 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

One of the micro propagation methods to recover healthy plants from diseased plant. among
the following. 1s

30BN’ T(OER 2008 © Ao, Ub‘déauémuna 28 VR 38 Tod Arg) T
Q "

DETRAD KBoA.

Options:
Meristem culture

De;vaas S8 SO
W "
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Anther culture
- ST ;sg:oma

Mutation breeding
&036&59&") .ng;:m

Root culture
Fole :Jgé;.‘m
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Question Number : 29 Question Id : 8135612109 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Axillary buds which forms branches or flowers are present in

TPV T° YOGS HIYH doden (d

Options:
Lateral meristem

5"6;5 2)3,5023,5 g0

1. %

Apical meristem

903 i)a_.rae;s S£27°00
2.

Cylindrical meristem

ATPISS ba,ra5 g2 V0
3.4

Intercalary meristem

0GR be,ra’s 8200
4, % »
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Question Number : 30 Question Id : 8135612110 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Number of structural genes in lac operon 1s

oS L,00°Q & Q07 EFS) S BRAEHY Do

Options:

Question Number : 31 Question Id : 8135612111 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of glucose molecules required to produce 38ATP molecules under anaerobic
conditions by yeast cell is

&R &' ©Toh0 FTRS" 38ATP d6yEwes ) ArER LW BS5G?

Options:

1, % 2

3,9 29
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Question Number : 32 Question Id : 8135612112 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Attraction of water molecules to polar surface called

B3] EDOBTVD, A BEDPVD JG] G BSERN DAEIEH?

Options:
Cohesion

1 % AAONOBR

Adhesion

- -
5 IO

Surface tension

@Ude‘x‘)ﬁ@
3. %

Capillary force

4% 338 Lo

Question Number : 33 Question Id : 8135612113 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is incorrect with respect to virus?

S08 T°S” DB L VotroHow) VB 5°AE MBotIod.
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Options:
Obligate parasites

OISV DO°R) VPV

1, %

Both RNA & DNA
, » RNA 208030 DNA

Non cellular

3 % S0OPS

Capsid protein coat
. soE TOD o
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Question Number : 34 Question Id : 8135612114 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following

Plant Disease

a. Citrus 1. Bronzing
b. Legumes 11. Die-back
Cauliflower 111. Mouse ear

d. Pecan 1v. Whip tail

SoBT° AR RSAHGTISAD

SIS TR
a. P 1. eroRoh
b. i i, &- erS
c. S0DH6 iii. 3D Qo6
d. 283 iv. 56 88 (B

Options:

1% (a—i), (b—ii), (c—iv), (d —iii)

(a—ii), (b—1i), (c—iv), (d—iii)

2. ¥
.y (@—ii), (b—i), (c—iii), (d—iv)

, » @—D, (b—ii), (c—iii), (d—iv)

Question Number : 35 Question Id : 8135612115 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Hidden hunger can be treated by which of the following?

EDotd) e3£0D &(O° oo BaDSy.

Options:
Bioremediation
| % O ODAHAS

Biofortification

5 o 2I03° ﬁggéaé

Biotertilizer
QO3 DOTR6
e B—

Bioactive molecules

n 25 SOIrd) S ©rDYHL

Question Number : 36 Question Id : 8135612116 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Bacteria responsible for Nitrification come under the following groups

& $08 TrOS° D dATDFew Wrsdair HGSGS” (D DeTotsOR?

Options:
Coccus
1. % §83

3.V
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Bacillus

eV

Spirilla

4, %

202
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Question Number : 37 Question Id : 8135612117 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following:

a. Viroid 1. Pollution indicators
b. Prions 1. Detection of toxic pollutants
¢. Biosensors 1. Potato spindle fuber decease
d. Lichens 1iv. Scrapie disease
SoBT"A RVAHDGTA:

a. PDorané L SRR Ardse
b. 05Ty i, D0 YOS SO ArDeBdd
C. OPRTG i, JTered DyocieS er(ead 46
d. o8 iv. ??_{23 (=

Options:

. @—iiD), (b—iv), (c—ii), (d—1i)

> ® (a—iii), (b—iv), (c—1), (d —ii)
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2 % (a—1i), (b—ii), (c—iv), (d—iii)

4% (a—ii), (b—iii), (c—iv), (d—1i)

Question Number : 38 Question Id : 8135612118 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The mmnermost layer of the cortex is called

) 0B S°DY TER & DGV DLV C:

Options:
Higher leaf area

. VRS DG DTV

Lower rate of photorespiration

BE), O ST T(RSAD Bew
2. ¢

Presence of thin cuticle
o DB 9N SOA eokito

Presence of larger number of chloplasts in the leaf cells

s 0 DBEETVS” DL D VoS’ 0SB FePew 9 ocitvo.

Question Number : 39 Question Id : 8135612119 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The mnermost laver of the cortex 1s called

S 00 SDY TR0 & Do DRI

Options:
Epidermis

. % e.r:r'sz‘.‘adéan

Endodermis

Y, Eﬂo@nﬁcﬁ&m

Pericycle

3 % Felo Al-Fu bl

Hypodermis
n €9¢5:8G) 500

Question Number : 40 Question Id : 8135612120 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The muiddle lamella of cell wall 1s mainly composed of

geasdtdo AINE); G| DOVS DI A0 89A &oco

Options:
Pectin

58S

1. %

Calcium Carbonate

s*®ado 5°6°E~).3e5
% a

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

Calcium Magnesium Pectate
s*doo 20f) o DFES

3.v

Lignin
5 LIPS

Zoology

SectionId: 81356145
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 41 Question Id : 8135612121 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Stratification is well developed in

DA BodD VLG EIDod DBFo

Options:
Grass lands

.- (BTS00
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Temperate forests
RAIEY &P

Tropical rain forests

3 &g&ﬁ)udv DTT0 VG

Alpine vegetation

4% 2322:)5 Dy ERN0DG

Question Number : 42 Question Id : 8135612122 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the correct matchings:

a) Sweat gland- eliminates urea, lactic acid. NaCl
b) Sebaceous glands- Eliminate sterols, hydrocarbons and waxes through sebum.
¢) lungs- Remove large amounts of CO2 (18 litres/day) and significant quantity of water

d) Liver - Eliminate degraded sterotd hormones, vitamins and drugs.

20 9008 2B MHBociod.:

a) NG (ocrn — ardalr, erdd esanaw, NaCl of Fefigron

b) <56 (ocurn ~ HOSy, TET Y BAL DA LR M ArdE° FonFan

¢) Gsdagu ~ 88 Arermd’ C02 (18 Bd/Ber) adan A &ree Fohon

d) srganan — Hean 306 Yorand H5 D, DDPN DB domo Fofidran

Options:
(a). (b) only

Only (b). (¢)
) % (b).(c) argd
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Only (a). (¢). (d)
3 % (2.0 () ared

All (a), (b). (¢). (d)
4 (- (b). (). (d) Dy

Question Number : 43 Question Id : 8135612123 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the correct statements:

a) Visceral organs located in the haemocoel are bathed i haemolymph

b) The haemolymph 1s composed of colorless plasma and haemocytes.

¢) The respiratory system consists of a network of trachea, that open through 10 pairs of
small holes called spiracles

d) Heart of cockroach consists of elongated muscular tube lying along mud ventral line of
thorax and abdomen.

SoBTAS" DB OV PR MBoiod:
2) ©odtror BA0HITW 68 F0GeS" ok G) 68 &rGANS’ Eobron
b) 65 $36%0 Motk 36 6ird ) OO FATR Eotro
) FGOIIR Both Taf TV 8 8" w88 $9% arer oA A6\G 10 adw O
TR 0T G0 WOHLL SEXNEIEPAD
d) €G08 Mot ryeh0R0dw T s, Sotorainnd, RSB THAN. WA HLA, GECE'
GO0 SOOWSIVMT Gotol)
Options:

Only (a). (b). (c)
 x @ (b). (c) Srgdd
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Only (d)
). w (d) Srad

Only (c). (d)
3 ® (c). (d) g

All (a). (b). (c). (d)
i (a). (b). (). (d) ey

Question Number : 44 Question Id : 8135612124 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Asthma 1s caused due to

30" DoGIDVR SLVDAID T

Options:
Infection of streptococcus pneumonia

QIEED R0 Dogve DV

Inflammation of bronchi and bronchioles

v o -6 v
— FT(RTVo, T(RAT VS T DGR SR

Alveolar walls are damaged
JPa3E F e 20V €950 SVD

None of these options are correct

4 on © RTED DBAVHG 57
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Question Number : 45 Question Id : 8135612125 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is a wrong example for the given type of egg?

S0l TS EIS” TR LB By GLCE DA?

Options:
Moderately telolecithal — Frog's egg

| w S0EEBMT BS'TRES — Sy MHE

Alecithal — Mammalian egg

, 5 OGS — 266500 A

Megalecithal and telolecithal — Burd's egg

;% DTOIGS 200050 BS' TGS — DE

Microlecithal — Reptilian egg

WE TGS — DBV MO
4, -

Question Number : 46 Question Id : 8135612126 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the type of ring worm with the organ affected:

Column-1 Column-2
a. Tinea corporis p. The groin
b. Tinea capitis q. The scalp
c. Tinea pedis r. The feet
d. Tinea cruris s. Skin on the body

DDA 98 TR 2&d HETAW:

95-1 95-2
e e

a. &dasr 5°0°\0 p. (Rew

b. SJair s=HAD q. ISy

c. &Jadr HED r. PGS

d. &dodr £78D . €96} B0

Options :
e (a—s), (b—r), (c— q), (d—p)

2 R (a—p)' (b_Q), (C—I'), (d—s)
3.¢ (a—s), (b—q), (c—1), (d—p)
4, ® (a—q), (b=—29), (c=r), (d—p)

Question Number : 47 Question Id : 8135612127 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Frogs only breathe through lungs when necessary. Because

SOYRD B9SVEI0VNYE G EeBBBV TP(T° TR SaD BOYD

Options:
They have immovable diaphragm.

| %SGV IFRS DOHOIW

They lack a diaphragm to help regulate the pressure in their lungs

, o VRS DOVIN S Dot HOD EHBSGVS” (v DEDDD oDt

They have Gills for respiration.
e TSNS EDAIT (52O

They have moist skin for respiration

4% S a3 ) B TR SO EDABTHEDEIN

Question Number : 48 Question Id : 8135612128 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following epithelium found in the walls of blood vessels and air sacs of lungs
and are involved in functions like forming a diffusion boundary?

308 TS D GEHAND EDHSY 65TV Baky Takw ETVY" Golt, T HE
Soth Ancserh piabed’ & dran?
Options:

Cuboidal epithelium
IS0 GOSY

1, %

2. %
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Colummnar epithelinm

QoS 6 EDEY

Squamous epithelium

30) 0 6DV
3. ¥

Ciliated epithelium
i 30500 &HEY

Question Number : 49 Question Id : 8135612129 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the correct matching(s) related Malaria parasite and its life cycle:

a) Hepatic schizogony- Shortt and Garnham
b) Erythrocytic cycle -Camuillo Golgi
¢) G B Grassi- Pvivax life cycle

d) Sir Patrick Manson-Filarial worm m culex

SV elevhy :ac‘éléb 00050 T7¢) 2 tISAVNS) NDotiofow) VBT 2 HEWLEIE(D):

2) SOa P&H- I Ldasn mh) HFd

b) 6g g wgaw — e’ rd

¢) GB PN~ &, 9§y A g

d) %6 FB5 2d0yD -5y B08° PTBOLT YKo £ 5EAW
Options:

Only (a)
| = (a) gD
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Both (a) and (b)

, s (@) 208050 (b)

Only (b)

(a). (b). (¢) and (d)
2 P (a). (b). (c) S0das0 (d)

Question Number : 50 Question Id : 8135612130 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following i1s a Metatherian mammals?

SoBT-e5° 2erdHBair £6¢0 HBoAW.

Options:
Kangaroo

Echidna

5. & Oéc:"‘l

Shrew

3 x 2

Pangolin

o« ofBS
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Question Number : 51 Question Id : 8135612131 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identfy the wrong matching:

a) Goblet cells - Unicellular glands that produce enzymes

b) Salivary gland - Multi cellular gland

¢) Exocrine glands - secrete mucus, saliva, earwax, oil, mulk, digestive enzymes

d) Tight junctions mn epithelium - help to stop substances from leaking across a tissue

BT 26 DOSOEND Lfocdol:

a) MBS P - 5 50 (0GR BV GO BT

b) ererae (foten - e 56 (Joden

¢) LAPFTD (0GIRD - FED, TPOBOD, B DA, BO, e, 20N JoZAVOD FDFON
d) &94¥ SnErodn Sod (1 HHE) Dogen - 3 306 Garen So%eE FI0n

Options:
L s

Question Number : 52 Question Id : 8135612132 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify incorrectly matched scientist and their work:

1) Term biotechnology — Karl Ereky

2) Plasmid was discovered by — Lederberg and Hayes

3) Ligases discovered by — Mertz and Davis

4) DNA finger printing — French Anderson

5) Tissue culture — Haberlandt

6) Somatic gene therapy (SCID) — Alec Jeffrey and Laljit Singh

2oBI°S" FTRADY A YOS ST 23 BIDD DYool
1) 25F08A3820 — 5°6 208
2) TG ~ Totd 86 L0BOIN TPAWD
3) D - 20§ 200080 EDD
4) DNA o6 2otlofh = o e30&6yD
5) S8 HORAW — TwTok
6) D DA VS 5B DB GG S°HAWN — TS 2 BT uvges o

Options:
1.8 1,L2&3

3 % 5&6

4% 3.4&S5

Question Number : 53 Question Id : 8135612133 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Bt- Cotton 1s resistant to
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Bt-03 808 70" &8 JF s £9A &ocod?

Options:
Boll worm

e5°e5 T6),
" 4

Pin worm

2 6
v 597

Round worm

L Oo& 36&
3. %

Fluke worm

4% ToTO

Question Number : 54 Question Id : 8135612134 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Nervous tissues are derived from

“IE €mren” O bod@&tﬁc Qo) DO‘)@@JG&'?

Options:
Mesoderm

: mcssgsmo

Endoderm

% wﬂér_\?stﬁﬂ

AP EAMCET 2020

-

el

collegedunia:s

India’s largest Student Review Platform



AP EAMCET 2020

Ectoderm

, . TSy

None of these options are correct
A% D RT°LD VOADIS B

Question Number : 55 Question Id : 8135612135 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following 1s a matching pair?
a) Lubb — sharp closure of AV valves at the beginning of ventricular systole
b) Dup - sudden opening of semilunar valves at the beginning of ventricular diastole
¢) Pulsation of the radial artery — valves in the Arteries

d) Initiation of the heart beat — Purkinje fibres

308 areS" DO 900D 2B IO ?

a) 08 - 20050 oSN VODAE” £85° ROBE Sartren w8 FOM PWE AV YL
b) €D - 20880 orgEuan DOHANE g BoEPs 0 STEreD w8 FOm BNED TFipt
¢) G MRL Sareren 308 Jd3) - GV VYOG

d) 8),02 BoBIDED ~ IPHEAD VYEIW aFdodron

Options:
1.¢# 8
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Question Number : 56 Question Id : 8135612136 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the male sterility 1s due to azoospermia which method of assisted conception can be
suggested to couple?

20668 énc;'geﬁsa 505592;&»&13 Fab HOD 900 @ DGV ﬁéac;‘dm bw:w:)cl

m»am;m‘)?

Options:
IVF & ET
200 S HOREG0, boawabé

Voo @

Al Donor
i SV BOE QDI

AT Homologous

& oS SHB S ~adaE2e0)

GIFT
4w TEDODS TFSE Dodir (s Dz LB

Question Number : 57 Question Id : 8135612137 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the mcorrectly matched hormone and its functions:
a) Prolactin — Stimulates formation of milk in the mammary gland.

b) Thyroid stimulating hormone (TSH) — Stimulates the synthesis and secretion of thyroid
hormone from thyroid gland

¢) Adrenocorticotrophic hormone (ACTH) — Stimulates the synthesis and secretion of hormones
from adrenal medulla

d) Melanocyte stimulating hormone (MSH) — Acts on the melanocyte (melanin contamning cell).
Regulates the pigmentation of the skin

& 306 6 M0en DRvE" BB 520 207 (Hodd.:

a) Jerdd - %oe&‘ 20 focoed’ 28eas Feyaod

b) Borand o8 6y — Foroné (063 pBaod Foronk FEYD VoRE, DOGVD
GOS0

¢) AITPE 0S HES — 0By, dag B0 HE O st Feywad

d) DOTPE DOS DO — DOJTRE PPN B HE)A Gorb AoDoGod

Options:

. p &

2:.®

L

3.

-
&

Question Number : 58 Question Id : 8135612138 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Female AaBb 1s crossed with male AAbb. The gametes shall be

AaBb (5 2,8 D AAbb 0 28 DS TR oS L6630 VEHAN

Options:

Female Aa. Ab and Male Ab
} § Aa, Ab 0801 P Ab

1. %

Female AB. ab. aB. Ab and Male Ab

N AB, ab, aB, Ab 20801 NHEBA Ab
2.¥ @

Female Aa. Bb. ab. AB and Male Ab

. i § Aa, Bh, ab, AB sn8oin A Ab

Female AB. ab. Ab. aB and Male AA. bb

i § AB, ah, Ab, aB 08030 A AA, bb

Question Number : 59 Question Id : 8135612139 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Out of a population of 800 ndividuals in F2 generation of cross between yellow round and
green wrinkled pea plants. what would be number of yellow and wrinkled seed?

5R0%) iy, 06 Aoz SHAD wErd 2g) V) By JES Aozen SR werd

20g) 08 Vos0Ra BT F2 S6A0L Bodd 800 2000 DA, DS oY
8y SoBas Aocd $9AD Dren (Rouen) A6 Doay?

Options:
1. % 400

5 % 800
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5 % 200

4. v 150

Question Number : 60 Question Id : 8135612140 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Largest ecosystem of the world is

DHotdees’ DG BT DGE SIS

Options:
Oceans

., S0PV

Forests
> % (Llate) (3

Grass lands
Bal~TALSIVIY

Question Number : 61 Question Id : 8135612141 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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“Lucy” is the fossil of

w*;g?o B dora0?
Options:

Homo erectus
A JOS
‘I_ e~ )

Homosapiens

5 e s bb&ﬁ)‘s’)

Australopithecus

e5%65° HAED
3. B

Cro-ma 21011 1man

o 5-:1:»:1;5

Question Number : 62 Question Id : 8135612142 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Widal Test 1s a confirmation test for

DES DOL D TB VTG EDATHIED?

Options:
Pneumonia
, m5wbo$r
PR

Typhoid

), v DFo0E
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Jaundice
- :Jtﬁ()?@d)
3. % o

Epilepsy

: mrdbffdo
4, ® -

Question Number : 63 Question Id : 8135612143 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many different types of gametes can be produced by an organism of the genotype AaBBC¢?

AaBBCc o8R8 :)U“éi‘i;ﬁn &R 28 A ) 57O S38mrod) BoLrVE

Options:
1. 8 3

2. % 8

3. v 4

Question Number : 64 Question Id : 8135612144 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Bilateral symmetry metameric segmentation. eucoelom and open circulatory system
characterize which of the following phylum?

&5&6;,5 TR0, D0Dot DTFOB, A2#0G LA Bk DB)B 68 HRGE SIS

S0t vgeren 08 SLEW

Options:
Annelida

1. 8 @:)E)C“

Mollusca

5 % :ﬁmu&b

Arthropoda

es8 e
3.v @

Echinodermata
T QsS &oyer

Question Number : 65 Question Id : 8135612145 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the incorrect matching:

ST RBDBDIG Botsod:

Options:
Thecodont- Each tooth embedded in a socket of jaw bone.
. (0608 DOS BB G5 JBWE WY, WodeS® Bried Gotron
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Diphyodont: Presence of two sets of teeth in their life time
BIO God- 2D 3D DSBS’ TotdF BT G DI 0N

AP EAMCET 2020

Heterodont: teeth are of unequal shape and size
3 DN GoTPL) — BoTPL) AT 55700 S80I DAL $9A Gotrow

Dental formula-Arrangement of teeth in each half of the upper and lower jaw in

the order M. PM. M. C. 1
0 God B0 — D8 Ao ‘QWHM Gol GoTre 988 M, PM, M, C, |

4

Question Number : 66 Question Id : 8135612146 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following has the maximum genetic diversity in India?

5808 T°0¢° DO LGB B0’ 9(od 20§ Q:)cs5o SR B?

Options:
Teak
1.« 6350

Tea

2. % O

Wheat

L w e

Mango
4 % 0 C.
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Question Number : 67 Question Id : 8135612147 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the incorrect statements among the following:
1. Homeostasis ensures constant osmotic concentration of cells.
1. The famous keolado National Park (Bharatpur) in Rajasthan hosts thousands of migratory
birds coming from Siberia, in every winter.
i1, 99% of animals and nearly all plants are regulators
1v. The conformers are able to maintain their body temperature mspite of changes in ambient
temperature.

308a7E" VBT PISTVR B0
i, Ser0l” DOANN ST DN0N TES 5D G0t FDAPFON Botrd
il DO VIGO0 FBSVANS’ PBYOIT Mol ED) 0D DLW TRFD &) Soirodoir
Zaom 6 (2r0d Qrb) $% 0D dFow.
ti. 997 @0S0a)en BN WD 8 0570 A8 LD & AoDoGRSHED
iv. OErOR S0 HBNT &0 0f Gir &fiod ardyEY
Options:
% @ & Gi)

s (i) & (iii)
iii) & (iv)

3. ¢

Question Number : 68 Question Id : 8135612148 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Identify the correct statement regarding hepatic or gastric caeca i cockroach

&"G0oS Do) SO oGT VL D RoioBor) DO oI BotSoC..

Options:
present at the junction of hind gut and midgut

| OT(PETYAL 20005 WoTrRFETTA SO0 Frodiwd” Gotrow
1. %

secrete digestive juice

, o 36 6FD) $DFaw

removal of excretory products from haemolymph

z T2 Pod Hod DY LETV FuHTrow

Helps m grinding' the food particles

. e33556 ‘:Jm"g“vm DRGEANS” EDHATHDCIN

Question Number : 69 Question Id : 8135612149 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the incorrect matching:

a) Peritubular capillaries — The efferent arteriole emerging from the glomerulus forms a
fine capillary network around the renal tubule

b) vasa recta — A minute blood vessel network runs parallel to the Henle's loop forming a
‘U” shaped structure

¢) Cortical nephrons— Vasa recta 1s absent or highly reduced.

d) Blood filtered per minute—180 litres

$0BT°Y" B T 2N (gVeTIAVINIV
2) DOV FITYS VLD ~ 68 TS XS A0 Aol IBEUD DT BAS ol
5)8), T0S HUr D616 WD) D 68 88 TSV H

b) TR 05" — ) 0840 R 380t) HATSEAVT U 85 6ng” D6yed 00 D)

68 TV S0
Q) dYL Qg TS — T 0F° &'od) T edodd Gotod

d) DDAXD3 180 Derg g 3¢ Fasoercomd

Options:

1.% 8

Question Number : 70 Question Id : 8135612150 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In Binomial nomenclature. the name of the author

BT TSRS TYDG ), DX

Options:
Is printed in the beginning of the biological name.

L TR0H TArDS B006) TUORSENR

It 1s written 1in an abbreviated form

- TROH TATIS DIG IDIND ErHAS° TSN

Refers to that the genus was first described by him.

L x 228 Do ghlete et

Printed in 1talics
PO ErHH0S° T° I

4, %

Question Number : 71 Question Id : 8135612151 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Hepato-pancreatic duct which open nto the duodenum has a swelling portion called  (A)

the opening 1s guarded by (B)

D[ TP 2 TUA odrodw &' SWBED Fodin & v Byd BT

(A)__eotrtd, & o) 63800 &) 003683 (B)

Options:
(A)- Ampulla of Vater (B)- Sphincter of oddi

e (A)- es02))er e3D 86 (B)- 296 R050¢3

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



(A)- Foramen of Iter

, x (A)- 306 Goggdw

(A)- Foramen of Monroe
5 % (A) 20D oA

(A)- Ampulla of Boyden

& (A)- €302 €3 EIPOVER
.-

AP EAMCET 2020

(B)- Sphincter of Boyden
(B)- e5"00ED DoS0¢e3

(B)- Pyloric sphincter
(B)- 22e5°08 DoH0¢3

(B)- Sphincter of Oddi
(B)- a.;g. oS3

Question Number : 72 Question Id : 8135612152 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Body cavity of arthropods 1s called

vgii"c:’ SHoes” e $06LHT°60

Options:
Coelom

Pseudocoel
:33:;;3“5 3005557 Go
2, .

Haemocoel
5 o 658033°Co

Gastrovascular cavity

4 % RO0 PRCESICo
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Question Number : 73 Question Id : 8135612153 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following has an open circulatory system?

S0HTES” Dy BEDVGE SIS s9AD 2Hew

Options:
Periplaneta

| o D0TJer

Hirudinaria

Fo letloabstalonty

2. %

Pheretima
Folalbeb

Octopus

e35HD
e

4, %

Question Number : 74 Question Id : 8135612154 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Pseudopodia is mainly seen in

QT{IEOD PEDoMT DS SADIa0?

Options:
Flat Worm
g BRI Ddordew

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

Euglena

2%“”'@'—""

Amoeba

Paramecium
D62
4 % °Galded030

Question Number : 75 Question Id : 8135612155 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The plant- amimal interaction often mvolve co-evolution of the mutualists so that

a) The mutually beneficial system could be safeguarded against ‘cheaters’

b) A given plant species can be pollinated only by its partner animal species and no other species

¢) The animal utilizes plant not only for oviposition but also to pollinate the plant

d) All of these.

A0). - BOBIPO B0B0 BO{EN BOIP BFGHTFAD VP Do VP HOFAT) SR Gotran.

Q005 5P0R:

2) AR BN J0C BEOMT BFIRIFON D B0 GDOITIHOE

b) Q) awe) Zrased’ HM DG T VI 2eBIYHOF D B 5% M

TR0 2O

¢) ED) B0BUPHLN 0 O MHE DELLL DBAHENH BT EDATAT0N eodsdor
AL DO DODG)W ' Sree Feycoran

d) 20D ey

Options:
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Question Number : 76 Question Id : 8135612156 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
CDC Stands for

‘CDC" & ArotLA

Options:
Centre for Diabetic control

| % Qo8 D6 CoIrHdS SotS'S

Centre for Disease Control
2086 D6 ADE Sot5'S

Centre for Defense control

5 5 o006 D6 EDIY So8'S

None of these options are correct

D 2T OIS 57
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Question Number : 77 Question Id : 8135612157 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the right organism and its phylum

SoBT°eS° 2B 90D 2 (BD- Dotroded SG3)

Options:
Ancvlostoma- Platvhelmenthis

| 0865’0~ FireLodd

Nereis- Arthropoda
8- ugﬁ%:‘.

Chaetopleura- Aschehelminthes

$65°76- e, DRI

Ophiura- Echinodermata

| 2D05r6- RBSEC) e
4.

Question Number : 78 Question Id : 8135612158 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Vestiges of girdles are found in

9985 WV saﬁmacle:

Options:
Python

1 & § otit)ensd
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Krait

, x S&IFTAW

Cobra

3 % SPDITBD

Rattle snake
- oeeded f‘oclé
e

Question Number : 79 Question Id : 8135612159 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Upright pyramid of numbers is absent in

Roary DGDE DT SIS

Options:

Large tree

Grass Land

| 0437
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Question Number : 80 Question Id : 8135612160 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Trachea 1s lined with incomplete rings of

DOSPOD BVORTG S,ELED HVALTLD T0K TVoS® SO

Options:
Fibrous Cartilage

BoB00K0S J0)ELT)

Vo

Hyvaline Cartilage

Logt A A mad)v“?a
2. ¢ @

Calcified Cartilage

. & S ODE 2der

Elastic Cartilage

PAFOD Ay
® @ @®

4. %

Physics
Section Id: 81356146
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
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Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135612161 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A lmear object of length of 0.1 m 1s placed along the axis of a concave mirror of focal length
0.1 m. so that its center lies at the center of curvature. The length of the image formed is

0.1 m 20860 0 EPS"S 56y VLA dowxd: 0.1 m T o) 28 G
SRP T BEDE) GO ST S0t 36 SorIDEN Eotrdd. SRVY AWS)
DDA T

Options:
1 « 0.13m

> % 0.17 m
3 ® 0.3m

4 % 0.2m

Question Number : 82 Question Id : 8135612162 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

It R 15 the radius and 4 1s the mass number. then log R vslog A graph will be

R :rsb"gan 308050 A @303 Poa( ©ad logR S0Bakw log A © o] Jar DS

Options:

1. ¢
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A straight line
28 VoY O

A parabola
. DTHLOAD

An ellipse

L B8 3o

A Cucle
4 % BBV

Question Number : 83 Question Id : 8135612163 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the torque acting on a system 1s zero, which of the following remains constant?

28 SO D D B &), drdjo wand, $0d 5" 2B ;ﬂ:ommomm?

Options:
linear momentum
_ BDo® BO[Dr500
1. %

angular momentum

- 3 E'e3oth GOIDBw

linear impulse
5 % ODOH SGHI
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linear velocity
DAL DA

Question Number : 84 Question Id : 8135612164 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A force of 20 N acts on a body and displaces it through 5 m along a direction inclined at 60°

to the direction of the force. Then, the work done 1s equal to

28 R0 D 20 N o H BRI, &8 weo B8 60° Sno BN B3S° & S 5m

gagoa:m Dood. &8 DSoDHEL” ROAR DA dodh?

Options:
1. 501J]

, x 2007

3 % 50V31

50T
vu VB

Question Number : 85 Question Id : 8135612165 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A tramn runs along an unbanked circular track of radius 30 m at a speed of 54 kmph . The
mass of the train is 10° kg . Then. find the angle of banking required to prevent wearing out
the rail.

8 000 tloc. (0 0 30 m TG o H,TT6 Argaw owad: 54 kmph S¢. &
SERD) &. B (o3 10° kg, Sox Argwe’ Gen wod V'dod) P> DeEsr

EoGErPAS WBREN (it § e

Options:

ity
Tan —
1. % 2
3
Tan ! (—)
2. ¥ 4

Tan —
3, % :

" Tan™ (1)

Question Number : 86 Question Id : 8135612166 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Time taken to uniformly heat up certain amount of water from 0 °C to 100 °C 15 30 mun,
It takes 160 min to convert the whole amount of water at 100 °C to steam at same rate of
heating. Then the latent heat of steam 1s

ok G303 e IS DSBAT D& kot 0 °C Aodt 100 °C Td¢rDS 30 Arew
8030, &8 DB 20gan 100 °C 3¢ DB Ar6ye=S eodd G 3¢ Sasorr 160
DD DR, WO, A g0 awg), MR Attt
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. » 5333 cal.g™*

5 % 645.7 cal.g™*

3 % 713 cal.g”

4

% 710 cal.g™*

AP EAMCET 2020

Question Number : 87 Question Id : 8135612167 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The electrical circuit used to get smooth DC output from a rectifier circuit 1s called

D DS Swaird) G fowd DSBS 6ed Huaio Aodk WS DC A8 TLRIWN?

Options:
Oscillator
| % Eosdw

Filter

2. v 985

Amplifier

2050
3. ® i~

Logic gates

4 % QGZIWSU“QD
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Question Number : 88 Question Id : 8135612168 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a projectile fired at an angle € with the horizontal. the maximum height 1s:

RATFoBINS § §easdn SR DVBD DEDSH AE), (182 A

Options:
directly proportional to &
1 % 0 9 S S do

directly proportional to sin® 6

3 of sin’ 0 £ 95 Arodrcho

directly proportional to sin &

3 sin @ £ e980e5° Ao

directly proportional to cos 6
4w COSO 9085 Ao

Question Number : 89 Question Id : 8135612169 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Who discovered X-rays?

X-Sde000 saoﬁ"acla“ds

Options:
Chadwick

“ t:rdsé
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Roentgen

5> T o825

Madam Curie

L e 5.?56
3.8

J J Thomson

4 % 2.3. m“mhf)

Question Number : 90 Question Id : 8135612170 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 12 kg bomb. when exploded. gets divided i two parts whose masses are in the ratio 1 : 3. If
the kinetic energy of smaller part 1s 216 J. the momentum of bigger part 15 kg.m.s™*

12 kg @303 (i 28 erotw o0 143 @[o300 A i Both BTV DG 0.

QR aro Ag), (2 38 2167 eond, D3 aro CE), B0 kg.m.s™

Options:
1.v 30

2,8 18

5« 108

Data insufficient

QT°o0RDL IN0ITOD
4. % = °
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Question Number : 91 Question Id : 8135612171 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

During adiabatic expansion of 2 moles of a gas. the change i internal energy was found to be
equal to 100 J. The work done during the process will be equal to

2 S © Tain) fgb“*gs T{E S0 BoBIYE T WGBS Srddy 100 Fenwsd
AT 0. 900 Dodd D 20RH?

Options:
Zero

- %‘0“&'}5&

, % 2007
5 % —1007

4 v 1007

Question Number : 92 Question Id : 8135612172 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A man is carrying a block of certain material (density 1000 kg. m™) weighing 1 kg in his
left hand and a bucket full of water. weighing 10 kg. in his right hand. He drops the block in
the bucket. How much load does he carry in hus right hand now?

28 20 1kg grbo o 2,8 620} 2[Fogd 1000 kg.m™] AaidaE'&, 10 kg &°do
o DB Dot LD D BAER AT . SR & BB wES" ST,
B &8 (& B G DAY dod T ATFROT")

Options:
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Question Number : 93 Question Id : 8135612173 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The back e.m. f. induced in a coil, when current changes from 1 4 to 0 A in 1 milli-second
is 4 V. The self-inductance of the coil is

28 Off totd” oS e 1 :JJQ RES" 1 4 Aoc. 0 4 & Arddcd 988 eoyeryvs
00 4 1V 9anR), & b Ao OSSN dod?
Options:

p, 2H

2, 8 “EH

10-3
; u 30°%H

4@ 4%x107%H

Question Number : 94 Question Id : 8135612174 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

In stable nuclei the number of Protons (Z) and number of Neutrons (N) are related as

28 63009 Soggaan®’ Terdo(Z) By Arjerad (N) S0 Dowotsaan

Options:
c N <2

1. %

Question Number : 95 Question Id : 8135612175 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Four condensers each of capacitance 4 nF are connected as shown in the adjoining figure. If

V, — Vo = 15V, the energy stored in the system s

41F o T 3D $DDY 0aird) Hied trdwded. V, — Vg = 15V
0, & HSVE" Jod 8 do Babudda?

4 nF
|
|

Options:

1w 24 erg
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> 1.8 erg
% 3.6 erg

4 % 0.4 erg

Question Number : 96 Question Id : 8135612176 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A progressive wave of frequency 100 Hz travels towards a rigid wall and 1s reflected by the
wall. The two waves superpose to form a stationary wave. It is found that a node is formed at
a distance of 1.6 m from the wall. The velocity of either the progressive or reflected wave 1s

100 Hz &390 o w8 HBrabdbotio 28 ?gcs A D) Dosredod), AGS HTd6P0
DoBotitit.oB. & Dot BGorTed 2,8 NG BT AG\BY, Hc ol 1.6 m Grbod” 2,8
001003 Dot DyCod. LD YO Tar Do Bt Drfo Jod?

Options:
1 = 200 m.s ™}
2 % 160 nI.Sml

-1
3 % 80 m.s

4 320 m.s~ !

Question Number : 97 Question Id : 8135612177 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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If ‘E” and *B" be the electric and magnetic fields of E.M. waves. then the direction of
propagation of E.M. wave 1s along the direction of

28 Dméaab&boa 3ol DRS00 ©ODAY) 08 ET0 HEIMT ‘E’ Ddoso ‘B’
9003 DANEOHY 08 Sboffo DIroid B3 ) BIS" Gotwod.

Options:
E-vector
1 % E-286%

B-vector
w B-2&6%

E X B -vector
3 E X B -283

B X E -vector

Question Number : 98 Question Id : 8135612178 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Starting from a point on circumference of a circle of radius ‘r’. a person moves to a point
which 1s diametrically opposite its mitial position. The distance travelled and displacement
are respectively

28 S 1’ a°5$°Qn (0 58 588 DA w8 Dok Mo WOLVBD, &8 3y3 HBA Kok
8 Dot TR0 (302 Dotoi) SEL DOEhoSIT, & 3§ HArod Erdo
208050 gvaﬁgwum BUYA.

Options:
1 % 2nr, 0
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5 @ I, 2r
3 % A AR
4 % 21 . T

Question Number : 99 Question Id : 8135612179 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The magnetic potential at any point on the equator of the dipole 1s equal to

8 B0 08), D[R Bap HBD Doty S¢ AN 08 TEIAY BIS H&ro?

Options:

1.¢0

2. % 1

Question Number : 100 Question Id : 8135612180 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A source of e.m. f. E = 15V and having negligible mternal resistance 1s connected to a
variable resistance so that the current in the circuit increases with time as i = 1.2t + 3.
Then. the total charge that will flow 1n the first 5 sec will be

DT 08 wodw (e.m.f.) E =15V 208080 ©088) 5w &D205003) 8
23830 2,8 wWhod D BSAW &) SV0HANS SDWEAY Y@ DANS DTS,
50 (t) 8 1= 1.2t + 3, & 9 0BotER DHOMNS. 0N, &8 Swabedd’ A 5

DER0S° D0 0B B33 e

Options:
1. % 10C

2. % 20C

4. 8 40 C

Question Number : 101 Question Id : 8135612181 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The torque necessary to produce an angular acceleration of 25 rad.s % in a flywheel of mass
50 kg and radivs of gyration 50 cm about its axis 1s

50 kg S30°3, F:doe .:5"5:}‘%0 50 cm (10 28 ASFOS B8o @0 QG 25 rad. s 2 S

(00 Fott)L) dodh e, HV6AN?

Options:
1 % 312.5 dyne.cm

> % 31.25 N.m
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3 % 31.25 dyne.cm

T, 3125 N.m

Question Number : 102 Question Id : 8135612182 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two cylinders A and B fitted with pistons contain equal amounts of an 1deal diatomic gas at
300 K . The piston of 4 1s free to move. The piston of B 1s held fixed. The same amount of
heat 1s given to the gas m each cylinder. If the rise i temperature of the gas in 4 1s 30 K then
the rise in temperature of the gas in B is

200080000 DAL Gocdd r&]wavo Fdod” 300 K S AP DOATRA iR BEOOArHS

TR Kol ARSI A AT SERVAD. LDV B fgéorv Do, Totd 'gr&v
&5 (0 TOH0)E RN DBATEAN (R egnl oBotrd. 4 & Tk egga 30 K H6hd

B & arosn egﬁgaes‘ DEMEL dod?

Options:
1. % 30K

, « 18K
3‘ 3 50 R‘F’

1w 42K

Question Number : 103 Question Id : 8135612183 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The given figure shows the electric lines of force emerging from a charged body. If the electric

fields at A and B are E, and Ej respectively and if the displacement between A and B is . then:

8 8338 HWPot. NS WUBHLY JNIED T D Brdeed. A Sodakw

B © g deoid Egren SR E, Sododo Eg. A 2080k B © 26 g«;a@oao I, 900

Options:
1 « Ea > Eg
, % Ea $Ep
E
EH:_B
3 % r
Ep
By ===
a8 B

Question Number : 104 Question Id : 8135612184 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A square slab of side 0.5 m and thickness 0.1 m is subjected to a shearing force of 9 X 10* N
with the lower edge riveted to the floor. If the shear modulus of the material of the slab s

5.6 X 10° N.m™ find the shearing strain.

0.5 m 20240 TES), 0.1 m DoBaw 6o w8 égacsgvsvd 208 $08 ot Brads Hiow),
@R 9 X 10° N 2r wwo 0R0880m. 08 HErdan Gieer Ansdw 5.6 X 107 N.m™
008, DAL D8O Jodd?

Options:

. u 28202

5 % 27 X 107°

5 u BERIO

4 @ 6:4%107°

Question Number : 105 Question Id : 8135612185 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What should the angular speed of earth be, for a body lying on the equator to feel weightlessness?
(g=10m.s™%,R = 6400 km)

w8 Y BPE0D 36 26 62 DO RS Todes e aog), Eedad 36
dodh &oted? (g = 10 m.s~%, R = 6400 km)

Options:

1
— .8
1.« 800

1
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1 .
—rad.S
, % 400
1
. rad.s™!
3. " 6
: |
— rad.s™ !
4 x 100

Question Number : 106 Question Id : 8135612186 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The electric potential at a distance of 10 m from a point charge of 25 uC is

25 1C (0 28 Do) e3D%0 od 10 m © &rGoeS’ DS TEY0DS dodh?
Options:
1 % 2500V

, » 22500V
3 % 2000V

4 % 20500V

Question Number : 107 Question Id : 8135612187 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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A single-slit diffraction pattern is obtained using a beam of red light. What happens if the
red light is replaced by blue light?

26 D69 508 EHAIFA0D) woB-0dE DG JP(Ero D6yB08. A6 500 LERVT Do
5P08R) GOrAoLANE,

Options:
There 1s no change in the diffraction pattern
DG DOS” Do) , BTy Gotidd

7, W .

Diffraction fringes become narrower and crowded together

, o DG D GACT™ Gotar MOV Gotra

Diffraction fringes become broader and farther apart

. i DDGD DERD DELOVT E0bar BIGolT €:otaw

Diffraction pattern disappear

4 x DG DY St

Question Number : 108 Question Id : 8135612188 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1||.

p
Using P — V diagram for an 1deal gas, find the work
done by the gas in process ABCD. ; ;

2P L ,
w8 BEG) o) awe) P -V HOAWS’ BFraD L
ABCD H65808° &8 T 050:9) B H e g

Vo 2 3

Options:
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4P,V,
2P,V
3PV,

. PyV,

Question Number : 109 Question Id : 8135612189 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The distance of the centres of moon and earth 1s D. The mass of earth is 81 times the mass of
the moon. At what distance from the centre of the earth, the gravitational force will be zero

B0, Zr Somre) [ Ar6iw D. ZrR G303 B G038 81 0w X
Soghidn) Aoodt Dot GrEANS HESEWRAN HFRHE BYBE?

Options:
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Question Number : 110 Question Id : 8135612190 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A moving body of mass m and velocity 3 kmph collides with a body at rest of mass 2m and
sticks to 1t. Now the combined mass starts to move with speed of.

m @303 3 kmph Sffo (o 28 SR ’gdon“ &) 2m @S(0°3 (10 28’8 SP ¢ED
@A otnE AV'00B. DY) & BITHR SN dod HES SEWSE?

Options:

1« Lkmph

> % 2 kmph
3 » 3 kmph

4 % 4kmph

Question Number : 111 Question Id : 8135612191 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The power dissipated by a resistor of resistance R, carrying a sinusoidal AC current of peak
; 15
value [, 1s

R B0 o O ESH0S" 396 Do 1, (10 28 RTWE AC IBGS IRV P

e3 DB ¢I8A0 oo mdséommo?% &mgsa» =
Options:

;% IﬁR cos
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Question Number : 112 Question Id : 8135612192 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the error 1n the measurement of radius of a sphere 1s 2%. then the error in determining the
volume of the sphere will be

fvo aﬁavga» E098085° S0 2% ond, T H&HBarHe S8t S8 Jod?

Options:

2_\.’,-?60/0
3 % 8%

4 % 2%

Question Number : 113 Question Id : 8135612193 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Three long, straight and parallel wires carrying currents are arranged as shown in figure, The
force experienced by 10 cm length of wire Q 1s

DEPAT B0 DAreSEA0T &) 3 Bien HLAVE" Wrad ArAB B \LEH.
10 em &) B0 Q B ©R0BJoth) LVBY

RT' Qi PT.

= 2CM b s 10O e

- 'Té

20A 10A 30A

Options:
1.4 X 10™*N towards the right
1 ¢ 14 X107*N é 8

1.4 X 10™*N towards the left
, » L4 X 107N dco P8

2.6 X 107*N to the right

3 x 2.6 X 107N soc 28

2.6 X 107*N to the left
4 % 2.6 X 107*N dea0 23

Question Number : 114 Question Id : 8135612194 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A man sitting in a train in motion 1s facing the engine. He tosses a com-up; the coin falls
behind him. The train is:

SERDBID) TROS" w8 H[8 RN BDIVYPOIT ErEND 28 TH) PS AIBIVD b
SR DISY DG, O &5 Tew

Options:
Moving forward with acceleration

G008 BHWoEIL SERLBID) &
1.¢

Moving forward with uniform speed

" DAIEE Ao SCOVBLDY &

Moving backward with deceleration
2 cbcaosdmg DI0SL SEVSODY B

Moving backward with uniform speed
, PICES DISD ScendLd) &

Question Number : 115 Question Id : 8135612195 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When the current in a coil changes from4 Ato 8 Ain 0.1 s, ane.m. f. of 16 V 1s induced mn
it. Then find the coefficient of self-induction of the coil.

28 EHE" DS DTN 4 A B0od 8 4 © 0.15 RSADIVS Ar6dy DoAY

16 V 08 Defery08 e DO\CRG. A, & ) M(ao DS

Options:
1 % 0.2H
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> % 035 H

s 04H

4 % 048 H

Question Number : 116 Question Id : 8135612196 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

With the addition of impurities. the surface tension of a hiquid

00O SeDHL HOD DA SOBJ(S

Options:
Increases
DM

Decreases
SO
y

Remains constant
3 % AT

May increase or decrease depending on the impurity
0977 w8 DD Tor S

4.9

Question Number : 117 Question Id : 8135612197 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

Orientation : Vertical

el



AP EAMCET 2020

When a metal surface 1s illumimated by a monochromatic radiation of wavelength 4, the stopping
potential required 1s 3V. If the same surface 1s illuminated with a light of wavelength 24. the

stopping potential reduces to V. The threshold wavelength for this metal surface is

SRl D)) 3Gorigd A 6o :)sag D3NS DAV BARYE SeIVN TGS

TO0HE 3V e &) SorBGn 21 o T8 AL $ ASS ToYabs

V8 8008, wand, & ' d0A 6o édmgq%a»

Options:
1 % 84

3. v 44

Question Number : 118 Question Id : 8135612198 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In Newton's cooling experiment. the water equivalent of two similar calorimeters 1s 10 g each.

They are filled with 350 g of water and 300 g of a liquid (equal volumes) separately. The times
taken by water and the liquid to cool from 70°C to 60°C are 3 min and 95 sec respectively, Then,
find the specific heat of the liquid.

AP S8desem parraane’ 10 g EQOIrode doerjossn DAY Bocd 36 Qotge’
38(rr 350 g AR 2Bk 300 g BTN SR . (odo) WBBBATEY
2098w 70°C &00d 60°C & JDedro Satond S 3 Diwdren 26ak G 95
SRR BBVE0RR). B, € I8N g VTR S dod?

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el

Options:



AP EAMCET 2020

, % 03 cal.g71.°Cc™1

5 % 0.5 cal.g™.°c™

; o D6 cal.g™.°c™

4 % 08 cal i .26

Question Number : 119 Question Id : 8135612199 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two charges. 10 uC and 50 pC are placed 4 m apart at ponts A and B respectively. The
force exerted on a 15 puC charge placed at point ‘P’ midway on the line joining them 1s

4m Grosns” 6y A Bk B & DodoPH 3¢ S6oRr 10 pC 0Bk 50 pC o
006 BTV Gotrdd. A 2080iw B v 590 Vel 3G ‘P’ 96 15 pC D7)

&0, T DA HABH LA

Options:
1.35 N along PA

. o 135N, PADD

2.35 N along PA

, & 235 N,PADD

3.35 N along PA
3 3.35 N,PA DD
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1.35 N along PB
1.35 N,PB 2

AP EAMCET 2020

Question Number : 120 Question Id : 8135612200 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Range of a particle projected with an initial velocity u = 20v2 m.s ™ at § = 45°is

28 S0P f = 45° Eeaod 1 = 20V2 m. s §'Y Driod HEVo BB, & HWY

AE); VTS T dods?

Options:
1 % 110m

> % 29Mm
% 0O m

3

4. 80 m

Section Id :

Section Number :

Mandatory or Optional :

Number of Questions :
Section Marks :

Display Number Panel :

Chemistry

81356147
4
Mandatory
40

40

Yes
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Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135612201 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the frequency of the violet light. (given A = 400 nm)

&L Cord 5708 ARV, @a@asa fiedotdoc. (1 = 400 nm ™ RDEEIA)

Options:

14
. o 28 Wi e

, x 45 X107 Hz

, x 45 X107 Hz

4 % 75 X107 Hz

Question Number : 122 Question Id : 8135612202 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the change in enthalpy for the reaction 2H,0, ;) & 2H,0 ) + 0, (). Given. the

heats of formation of H,0 ;) and H,0, ;) are —188 kl. mol™ and —286 kJ.mol™* respectively.

© Do G0 DRIV SR —188 k. mol™ &38akn —286 kJ.mol™ ™ RSWED)

Options:

1 u —196 k. mol™*
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> x —948 kJ.mol™

5 & +196 kI.mol™*t

4 x 1948 kl.mol™?!

Question Number : 123 Question Id : 8135612203 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Terylene 1s manufactured by heating a nuxture of ethylene glycol and terephthalic acid m the
presence of which of the following?

260 7576 Subasy 083 Deeigpisey Dgod 3 B ‘0605 R oz oe
%@DQ 5@“63.
Options:

1 % ZTI(OAC)z/Fezo:;

> % ZTI.CIE/Sb203

3 Zﬂ.(OAC)Z/Sb203

4. % Z'n(OAC)z/Al203

Question Number : 124 Question Id : 8135612204 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Insulin 1s used for the treatment of

'amDE)E) DTG S0 TrcoTrdd

Options:
Lung cancer
E2203800 5°0\0

i 22

Diabetes

5 I TT° 355

Anenua
_ BE ;e
5, " R

Blood cancer
6§ ’5‘"&‘)35

4. %

Question Number : 125 Question Id : 8135612205 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The quantum number which determines size of the orbital is

35,59-7“6 DB2ET Y .‘Ogm)m?s S™(oto Doy DA?

Options:
Principal Quantum Number

o RT°R (oo Vo

Azimuthal Quantum Number
A0S S°(otdo '&aca)s
e
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Magnetic Quantum Number

e90DT°)_ 0 S*Coblo Do

Spin Quantum Number

PN\ STofo Do
g n TR ONY

Question Number : 126 Question Id : 8135612206 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the co-ordination number of F~ in BaF,. if co-ordination number of Ba** is 87

BaF, & Ba™ c3ng), D05 Vo2 8 00nd. F~ DS0H Woa)] dods?

Options:

1.0 %

Question Number : 127 Question Id : 8135612207 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The order of ease with which the following hydrocarbons react with metallic sodium.
liberating hydrogen. 1s
Jiiowo §ired $08 E 76\ B8] JoWAYE FELD DendE Jvzo BTdorr
Sty $00
i) CH=CH
(i) CH=C- CH,

(i) CH;—C=C-CH,
) CH=C-CH;—CH,

Options:

| % (iv) > (iii) > (i) > (i)
, o @ > G) > (v) > (i)
2 ® (i) > (i) > (iii) > (iv)

4 % (iii) > (v) > (i) > (1)

Question Number : 128 Question Id : 8135612208 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The type of hybridization in B, H 1s

B,Hg &5° (50 208663250 &7

Options:
1. % 5P

2
2. % SP
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Question Number : 129 Question Id : 8135612209 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

500 ml of gas A at 800 torr pressure and 1000 ml of gas B at 600 torr pressure are placed

m a 2 L vessel. Calculate the total pressure of the gas mixture in the vessel?

800 torr(em6) ¢ o 500 ml © ‘A’ Trak0)) 8050 600 torr HE&Ew (v
1000 ml © ‘B’ Sroin)osd 28 2 L Fde° o, &8 3" Trainddgdvo 9¢Ho Jods?

Options:
1 % 0.5 atm

> = 1.0atm

3 » 0.1latm

> 0.6 atm

Question Number : 130 Question Id : 8135612210 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Rosaniline and malachite green belong to

F2NOS ot Areses HS & Dot

Options:
Triphenyl methane dyes
& 2 B Gorben

Anthraquinone dyes

, ?.5::@%535 Gofdd

Phthalein dyes

&0 Gorden

Azo dyes
- F Gorfew

Question Number : 131 Question Id : 8135612211 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Brass and Bronze are respectively composed of (Choose the correct option)

28 oD Jods Bajod. BSE LBODL Sord ST HB $DA &) D?

Options:

1% Cu&Sn, Cu&Cr

o Cu&zZn, Cu&Sn

3 » Cu&in, Zn&Sn
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4 % Cu&in, In&Cr

Question Number : 132 Question Id : 8135612212 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Crystallization 1s used for which of the following?

SRR ATEY £ &DATAF D

Options:
Separating solutions with different boiling points as vapours

QDY a.rfns DD g“:rw (0 TFATOA T8 30T DG BOVLIS)
1. %

Separating solids with different melting points

DDB) @A SA' BB (10 LT VR DEBALLL
2. %

Separating salt from a solution. in its crystal form

Er5£9:300 ADoL) WDEIENAL T°A DS ErHH” D DoV
3.¢ ‘

Separating different gases from their mixture

o DTLE T"ORVPV T8 QB0 Ao DA WO

Question Number : 133 Question Id : 8135612213 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In the following questions a statement of Assertion (A) followed by a statement of reason (R)
is given. Choose the correct option out of the choices given below each question.

Assertion (A): Generally. tonization enthalpy increases from left to right i a period.

Reason (R): When successive electrons are added fo the orbitals n the same principal
quantum level, the shielding effect of mner core of electrons does not increase very much to
compensate for the mcreased attraction of the electron to the nucleus.

& $0 18 S06" B)E00 B H3SAVT (A) T BXIBAP (R) 03 560 FSWEID.
8 2020 G-I oD BIERD T owd Jows Botod

8808 (A): FEronsm adEoen Jorrdy DBabé 6 A fod Dé DY AN

60w (R): 28 Do°d 38 g»uné e&awﬁ‘a SOV JTTR DI\ oS sséé‘

TFH HB6ES LePdn Sorss 86 6K B SRV DA

Options:
Assertion 1s correct statement and reason 1s wrong statement.

. & 5yDS6E 20 ORI 2DBALD STGro By

Assertion and reason both are correct statements and reason 1s correct explanation of assertion

;o 6,060 20Bat 5760 Botd BN )Bak) S0 §HNEBRL 1B LN DELHD

Assertion and reason both are wrong statements.

> G5yDE6E SOOI STEEI0 To® 0 VAVIA S

Assertion 1s wrong statement and reason is correct statement,

5 # c:’:absaea S PPV 2OCIT® S7GE300 VO VAN DDWADD

Question Number : 134 Question Id : 8135612214 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Two moles of compound (A) on treatment with a strong base gives two compounds (B) and
(C). The compound (B) on dehydrogenation with Cu gives (A) while acidification of (C) gives

a carboxylic acid (D) having empirical formula CH,0,. Identify (A) and (D).

Boc 2w (A) & R0 #dw 8 LUBND TEXE 6] ToBY) (B) ok (C)
30,9 061G, (B) 00wy Cu § G-Eadstn adrm 900 (A) D6y¢a. (C)
a308), ubgééea nﬁdigé“ CH,0, ©802rs ;}’m&v d0 (D) o waéhas"man Dcsjda&.
DBS* (A) &8k (D) v odotdod

Options:
1. & HCHO & HCOOH

, x HCHO & C,Hs0H

3 % CH;CHO & HCOOH

, « CH;CHO & CH;COCH,

Question Number : 135 Question Id : 8135612215 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1s not amphoteric?

Sod TS BRETD VLT TAA I&?
Options:

GEOZ

1. =

, « PbO,
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x dn0,

a.v C02

Question Number : 136 Question Id : 8135612216 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An element has electronic configuration 2, 8, 10, 2. The total number of electrons n each
subshell 1s given as (from the complete electronic configuration)

w8 Vo JUTD D:ré?oo 2,8,10,2 ™ &ofl, 9O r,—‘;:agf*amﬁ"m &R Ado VTRV

R0y (38 dogs D:J“igﬁ":)cl 0t))
Options:

_— $=6 =12 . 0="%7—9
5 . S=8 p=10,d=2, f =2

s QB PG SR P

4 % $s=6,p=12,d=2, f =2

Question Number : 137 Question Id : 8135612217 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The products formed when phosphine 1s dissolved m water in the presence of light 1s

oo D05 &%35 2 DAS* €8RS DOV GAT) e
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Options:
H;PO, 1s formed

e

1.%

H3; P05 1s formed

Hypo phosphorus acid 1s formed

27" TRNB B0 BEIRD
3. % - i

Red phosphorus and hydrogen is formed

) o D8 TRIGo Ak TEBD DGR

Question Number : 138 Question Id : 8135612218 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s incorrect?

a) The iron obtained from blast furnace 1s known as pig iron
b) Cast iron 1s made by melting pig iron with scrap iron and coke
¢) Wrought iron 1s prepared from pig iron by oxidizing impurities in a reverberatory furnace

d) Stamless steel 1s an iron alloy

308 TS D8 AW Q) ?

a) &) §B ool BOrEd LANHB CF) BB
b) '8 00R akbd sy, 8ok §6 & M B I’ A0 SoirdPdood

c) 0600 (290:56) EBE" o8, 06" BTV e S0 B 58 BRIV
Soird DI

d) oS TR DS 8 FR00 WGP

Options:

1. % @

3.¢¥ €

4,

Question Number : 139 Question Id : 8135612219 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The elements belonging to 5d series of transition elements are —

0BT S HOIGH Aurewseds® 5d 3638 BodIDD?
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Y to Cd
Y Sodow) Cd

1. %

Lato Hg

, v La Aoc. Hg

Ac to Cn
3 % Ac Qoc. Cn

La to Lu

4 % La o6 Lu

AP EAMCET 2020

Question Number : 140 Question Id : 8135612220 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The sum of atomic masses of the atoms present in a molecule is called

28 VRS &) DEATEDYV GBIV 20T

Options:
Mass number

B3O Doy

Atomic number

o To P b ui>eb) r-.yoa_aﬁ
2. %

Molecular mass

e9E g;bsc“%
3.v

908D
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Formula mass
&daéer G503

Question Number : 141 Question Id : 8135612221 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the correct statement regarding the reaction Zn + 2HCl - ZnCl, + H,

Zn + 2HCl — ZnCly + H,. & w6{S DotoBod 18 008 D90 &?

Options:
Zinc 1s acting as an oxidant
208 58,86e3™ D BaswR

Chlorne 1s acting as a reductant
_ £63 £00E6eIT HABOIN)

Hydrogen 1on is acting as a catalyst
TESS i) &S8)68I0Mm DIABHO

Zinc 1s acting as a reductant

i 2oS £08CIT DIAIOILA

Question Number : 142 Question Id : 8135612222 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following compounds is used for water softening?

QB 20y DAL BAD TETE?
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Options:

1« NagPe01g

2 ® Nﬂ3P04
3 % Caz(P0O,),

, « NayHPO,

Question Number : 143 Question Id : 8135612223 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the rate expression which obeys the condition: the percentage of reaction rate
mncreases when the concentration of reactant 1s doubled?

SR80 MTESR) Do) BRARYYE t6 B0 TE2W HBALL &) 800 PECET)

808 PEGEFVS” Botiol
Options:

. r — K[A]3/2

, @ T= K[A])?

s x T= K[A]°

Th K[A]
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Question Number : 144 Question Id : 8135612224 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following reactions to the type of reaction

SARNV(GVIEVLARN (@I R Qmaod

Reaction Type of reaction
30 65 Dedn
a)
Br  alcKOH i) Sw2
e 505 KOH
b)
BC e
i) E;
Br OH- /H0
¢)
Br OHgg, i) Syl
>
OHg,
d)
3 iv)
NO:
1) NaOH (ag), 368K , g R,
o S Aromatic electrophilic substitution
N o085 JTEDYS PAZD0
2
NO,
v)
Aromatic nucleophilic substitution
ebs Ardabarads pagon

Options:
1% (a—iii); (b—=1i); (c—=ii); (d—v)
5 % (a—i); (b—iii); (c—ii); (d—iv)
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;¢ (@a=i); (b—iii); (c»i); (d—v)

4 % (a=1); (b=i); (c—iil); (d—v)

Question Number : 145 Question Id : 8135612225 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the mass of 0.5 mole of ozone molecules?

0.5 rene L et G] T°F Dod?

Options:
. 88

x 168

Question Number : 146 Question Id : 8135612226 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020 _
e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

CsBr has BCC-structure with edge-length 4.3 pm. The shortest interionic distance between
Cs* and Br™ is

CsBr 4.3 pm ©ot TS BCC-Io) it $8 0B, Cs™ 2080k Br™ © Socs| ©3
%)), ©0d0 LOIrS ErdAw Jod?

Options:
1. « 3.72

> % 1.86
s x 7.44

4 % 4.3

Question Number : 147 Question Id : 8135612227 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The covalent character of lithium halides varies in the order

D@00 TFGEL DICTRAOD DEHAW HT6 S0

Options:

1 x LiF > LiCl > LiBr > Lil

, % LiF > LiCl > Lil > LiBr

5 % LiCl > LiBr > LiF > Lil

4-\?[.1‘1 > LiBr > LiCl > LiF
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Question Number : 148 Question Id : 8135612228 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the equilibrium, §0, 4y + m 0, (g) = S03 (g) set up in a cylinder fitted with a piston, an

mert gas 15 added and the piston 1s moved outwards to keep the total gaseous pressure constant.
Which of the following situations may occur?

o\ w, o 1 . o
A0V 11 108" S0, 0, TAVYVR &ad, $0,5) +50; () 2 503 ) ST
61007, Bood” 2ETANY) VITDY Jwdws ) ovh 60 o BT & b&%&)w‘
308 TS @ m&iga D0\ COR?

Options:
Addition of inert gas does not affect equilibrium
| % BETOIDA SLODHL VATTRED DI Do WIPDAD.

Less 503 (4 1s produced

L 503(g) TN 68y SO

More $03 (4 1s produced

s« S03(g) TANL) &BYS DO

The system attains a new equilibrium position

SIS Ed DNTDA] Tt
4, % s ¢

Question Number : 149 Question Id : 8135612229 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Buffer solutions have constant pH values because

w6 o N6 pH Densen $OH &ocotrtd 5P G

Options:
They have large excess of H or OH™ ions

T8S° HY So° OH™ es0ira I BSOT EobTo.

1.9

They have fixed value of pH. pH of the buffer changes with dilution

| T3 36 pH Dend Gotod. w6 aog), pH Dewd DDBANS” AT

These give unionized acid or base on reaction with added acid or alkali
88% 050 For TO2WS" BoHALER Bodd B2 Tor BALILEEAN Bodd

2P0 Dd_)c.‘.)m
3. ¢

Acids and alkalis n these solutions are shielded from attack by other 1ons
i u DBS* (5 20D 20805 T2 DAY LalrivS TrES MBS TE LG

Question Number : 150 Question Id : 8135612230 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In both DNA and RNA heterocyclic base and phosphate ester linkages are at

DNA, RNA e Gociot}eS® Dapdissah 3260 206050 3285 D260 exotren 38 26| Gocio?

Options:
C:' and C,' respectively of the sugar molecule
: ©98),6 ey e C5' doiw ¢
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C,' and C:’ respectively of the sugar molecule

©8),6 e alws), C;' and C5'

C,' and C:' respectively of the sugar molecule
4 o w98),6 e s ;" and Cg'

C:" and C,' respectively of the sugar molecule

n B38),6 e a3ws) Cs' and €y’

Question Number : 151 Question Id : 8135612231 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which of the following conditions. the overlap of orbitals 1s zero?

& SoBaredes” 365’ €586, RIII"EH A BT (0?

Options:
e al)  The_ o
1. % (Pz) (p2)
> % (pz) (s)
3.V
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0

Y
0
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Question Number : 152 Question Id : 8135612232 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a 2nd order reaction. rate at a particular tume 1s x. If the mitial concentration 1s tripled the

rate will become

w8 B0 808 S 28 230000 B ‘v, SATrRNSY MESR QP B0 3

2} dsqg (o[ V)

Options:

1 % 3%

2»,,9;1(

3 % 27x

. 14x

£9:)30080
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Question Number : 153 Question Id : 8135612233 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Which of the following statements 1s incorrect?

a) O3 1s an allotrope of oxygen
b) 05 1s pale blue gas.
¢) 05 protects us from IR rays of sun.

d) Ozone depletion 1s due to CFCs.

0BTV’ DIBT LS’ DA DO E?

a) 03 8S\BS BwE), ErIoBEA
b) 0; & D SorH T~A30I)
c) 03 0% ©0G8 Wrd D IR S8R0 64 otR

d) CFC ® d0d 0; DAIrmrdS (o8 953000

Options:

1. % 8

Question Number : 154 Question Id : 8135612234 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Which of the following aqueous solutions will have the highest boiling point?

& 800 TIS" D 20 TAETS VB[BS WD g*‘r‘bnn(wf:_)aabé FW) Gotots?

Options:

. % 1.0M NaOH

5 % 1.0M NHNO;

3 1.0M Nﬂ2504

, % LOM KNO;

Question Number : 155 Question Id : 8135612235 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a covalent solid. the units which occupy lattice points are

208 DIVCITRACD 20D DEgodS” g DoddPHVR BEMBD DD?

Options:
Molecules

| @ BEVDW

Atoms
. D0TEDRD

Electrons

DS
3 ® L e
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Tons
903" A

Question Number : 156 Question Id : 8135612236 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Among the following. which statement is incorrect regarding mole fraction (x)?

25785 2o (x) £ Dotodow) S0HT RS’ DA DB 5°C?
Options:

x=0

PR

Question Number : 157 Question Id : 8135612237 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 1s not an example for homogeneous catalysis?

308 To3e5" VB30 EB BRI G0N SO IB?

Options:
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Formation of SO; n the chamber process

| rotb DEAS” S0; D6ow
PR -

Formation of SO; in contact process

gl ROy :;gaes‘ 503 6O

Hydrolysis of ester in the presence of an acid

: 8 532 VLo a'fegé 20 DINE?

Preparation of diethyl ether from ethyl alcohol using conc.H,S0,

, TG PuryBS esdo RA0L08" SiBS ) e & &BS S35 Sosrddaing
4.3 -

Question Number : 158 Question Id : 8135612238 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Aniline 1s separated from aniline water mixture by

D39 D D303 200D AIOD B D BoIwLL TE HEAH DA?

Options:
Sublimation
1 aébéé;.‘u)

Solvent extraction

5 % ErOedeT iy §e

Fractional distillation

_ LS 903G DBAIL
3. %
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Steam distillation

P TN o S INA T Pa b )

Question Number : 159 Question Id : 8135612239 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A mixture of acetaldehyde and acetophenone can be separated by using

DNErEPE 20008 JREDSD © Do Mol R &dairfhod) T S Babdei.

Options:
1. 8 NaOH

, % NaOH +1,

3 % 2.4-DNP reagent

, » NaHS0,

Question Number : 160 Question Id : 8135612240 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following is not a favourable condition for physical adsorption?

S0 ::af{games‘ D8 T AL AT NN 9ETVAD SPER?

Options:
High pressure

| % OO DEDAW
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Negative AH

5 % mcrejés AH

High critical temp. of adsorption

QS AT LT Vod & rieh
3 % "R

High temp

, o 008 adas
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